DPP - Daily Practice Problems
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CHEMISTRY (46

SYLLABUS : Haloalkanes & Haloarenes -1 : Introduction and Preparation of Halogen Containing Compounds

Max. Marks : 120 Time : 60 min.

GENERAL INSTRUCTIONS

o The Daily Practice Problem Sheet contains 30 MCQ's. For each question only one option is correct. Darken the correct
circle/ bubble in the Response Grid provided on each page.

e You have to evaluate your Response Grids yourself with the help of solution booklet.

e FEach correct answer will get you 4 marks and 1 mark shall be deduced for each incorrect answer. No mark will be given/
deducted if no bubble is filled. Keep a timer in front of you and stop immediately at the end of 60 min.

e« The sheet follows a particular syllabus. Do not attempt the sheet before you have completed your preparation for that
syllabus. Refer syllabus sheet in the starting of the book for the syllabus of all the DPP sheets.

¢ After completing the sheet check your answers with the solution booklet and complete the Result Grid. Finally spend time
to analyse your performance and revise the areas which emerge out as weak in your evaluation.

DIRECTIONS (Q.1-Q.24) : There are 24 multiple choice Q.3  Thecompound which contains all the four 1°,2°, 3° and 4°
questions. Each question bas 4 choices (a), (b),(c) and (d), out of carbon atoms is
which ONLY ONE choice is correct. (a) 2,3-dimethylpentane

Q.1 Which of the following is a secondary halide ? (b) “3=chloro=2, 3<limeiimlponianc

(a) Isopropyl chloride (c) 2,3,4-trimethylpentane

(b) lsobutyl chloride @) "B dipetipaiiane

Q.4  What is th¢ main product of 1he reaction beiween

- hlori .
(©)- en-Prepyliciilanidg 2-methylpropene with HBr ?

(d) »-Butylchloride (@) 1-Bromobutane

Q.2 Haloforms arc trihalogen derivatives of (b) 1-Bromo- 2-methylpropane

(a) ethane (b) methane (c) 2-Bromobutane

(c) propanc (d) benzenc (d) 2-Bromo-2-mcthylpropanc
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Q.5  When ethyl alcohol (C,H;OH) reacts with thionyl chloride,
in the presence of pyridine, the product obtained is
(a) CH;CH,Cl+H(
(b C,HCl+Cl,+ 80,
() CH;CH,Cl+ H,0+ S0,

(d) CH4CH,Cl+HCI+ S0,

In mcthyl alcohol solution, brominc rcacts with cthylenc
loyicld BrCH,CH,OCHj in addition 1o 1, 2-dibromocthanc
because

@
)
©
(d)
C;Hg+ Cl, L=, C;H,Cl+HClis an exampleof which

Q.6

the ion formed initially may react with Br~ or CH;OH
the mcthyl alcohol solvates the bromine
thereaction follows Markownikolf's rulc

this is a frec-radical mecchanism

Q.7
of the following types of reactions ?
(a) Substitution (b) Elimination
(¢) Addition (d) Rcarrangement
Benzene reacts with chlorine to for mbenzene hexachloride
in presence of which ol the following agent?
(a) Nickel () AlCl3
(c) Bright sunlight (d) Zinc
When cthyl alcohol and KI react in presence of Na,CO,,
ycllowcrysialsof ....... arc formed.
(a) ClI, (b) CH;1  (c) CH,l; (d) C,Hl
Q.10 Which one of the following processcs docs not occur during
formation of CHCl, from C,HsOH and blcaching powdcr?
(b) Oxidation
(d) Chlorination
Q.11 C H4Cl is prepared by reacting aniline with
(a) HC
(® Cu,Cl,
(c) C]2 in presence of anhydrous AlCI3
d) HNO2 and then heated with Cu2C12

Q8

Q.9

(a) Hydrolysis
(c) Reduction

DPP/ C (46)

Q.12 A Grignard'srcagent may be madc by reacting magnesium
with
(a) mcthylaming (b) dicthyl cther
(c) ethyl iodide (d) ethyl alcohol

Q.13 Best method of preparing alkyl chloride is

(a) ROH+S0OCl, ——
() ROH+PCl, —>
(©) ROH +PCl, — >
(d) ROH+HC] 20 iCl,

Q.14 DDT is prepared by reacting chlorobenzene with

(a CCl, (b) CCI;-CHO
(c) CHCy (d) Ethane
Q.15 Preparation of alkyl halides in laboratory is least preferred
by
(a) treatment of alcohols
(b) addition of hydrogen halidces to alkenes
(¢) halidc cxchange
(d) dircct halogenation of alkanes

Q.16 Whichof the [ollowing acidsadds topropene in thepresenee
of peroxide to give anti-Markownikoft’s product?

(a) HF (b)y HQ
(c) HBr (dy I

Q.17 Conart Finkelstcin rcaction for the preparation of alkyl iodide
is bascd upon the fact that

(a) Sodium iodide is soluble in methanol, while sodium
chlorideis insoluble in methanol

(b) Sodiumiodide s soluble in methanol, while NaCl and
NaBrarc¢insolublc in‘'methanol

(c) Sodiumiodideis insoluble in methanol, while NaCl and
NaBr are soluble

(d) The three halogens difler considerably in their

clectroncgativity

5. @®OO® 6. @®OO
10.0®00 11.O000
150000 16.0®O©@

RESPONSE

GRID

7. @®OO 3. @OOO® 9 OEOE
12000 B.EEEEO® ¥ OO
17.0000O

Space for Rough Work

EBD_7157



183

DPP/ C (46)

Q.18 R-OH+HX 5>R-X+H,0
In the above reaction, the reactivity of different alcohols is
(a) Tertlary> Secondary> Primary
(b) Tertiary < Sccondary < Primary
(c) Tertiary< Secondary> Primary

(d) Sccondary < Primary < Tertiary

Q.19 CgHg+ClL — B 5 product.
In above reaction, product is
(a) CClL,CHO (b) C¢HClg
() C¢H,Clg (d) CgHCl,

Q.20 Ethanol is convericd into cthyl chloride by reacting with
which of the following?
(@ Ch (b) SOCI,
() HA (d) NaCl

Q.21 Ethyl benzoate reacts with PClg 1o give

(a) C,HsCl+CzH,COCI+POCI, +HCI

() C,H,Cl+CH,COCI+POCI,

() CH;COCi+CgHsCOCI+ POCI,

(d) C,HCl+CH;COOH+POCl,

In presence of AICl,, benzence and n-propyl bromide react
in Friedel-Craft's reaction to fonn

Q.22

(a) #»-propylbenzene
(b) 1,2-dinormal propylbenzene
(c) 1, 4-dinormal propylbenzene

(d) Ilsopropylbenzenc

Q.23 The catalyst used in Raschig's process is
(a) LiAlH, (b) Copper chloride
(c) Sunlight (d) Ethanol/Na

Q.24 What will bethe product in the following reaction?

CH,
(j NBS
s

Br

CH CH,
(a) ) ) L:T
Br
CH,Br CH,
{m[:T @
Br

DIRECTIONS (Q.25-Q.27) : In the following questions, more
than one of the answers given are correct, Select the correct

answers and mark it according to the following codes:

Codes:
(a) 1,2and 3 are correct M) 1 and 2 are correct
(¢) 2and4 are correct (d) 1and3 are correct

Q.25 Whichofthe following is nota primary halide?
(1) Isopropyl iodidc
(2) Sccondary butyl iodide
(3) Tertiarybutyl bromide
(4) Neohexyl chloride

Q.26 Chloroform can not be obtained from
(I) Methanol (2) Methanal
(3) Propanol-1 (4) Propanol-2
Q.27 Which of the following compounds undergo nuclcophilic
substitution reactions?
(1) Isopropyl chloride (2) Ethylbromidc
(3) Benvyl chloride (4)  Vinyl chloride

1B.O®O®
23.0000

19.@®OO
24.0000

RESPONSE

GRID

22. @®O@
27. @®OO@

20.0®O0 21.00®OGO)
5.0000 26.0®OO

S pace for Rough Work




184}

DIRECTIONS (Q. 28-Q.30) : Each of these questions contains
two statements: Statement-1 (Assertion) and Statement-2

(Reason). Each of these questions has four alternative choices,

only one of which is the correct answer.You have to select the

correct choice.

(a) Statement-1 is True, Statement-2 is True; Statement-2 is a
correct explanation for Statement-1.

(b) Statement-1 is True, Statcment-2 is True; Statement-2 is NOT
a correct explanation for Statement-1.

(¢) Statcment-l is False, Statement-2 is Truc.

(d) Statement-l is True, Statcment-2 is Falsc.

DPP/C (46)

Q.28 Statement-1: CHCl; isstored in dark botiles.
Statement-2: CHCl; is oxidised in dark.
Q.29 Statement-1: CCl, is not a firc cxtinguisher.

Statement-2: CCl, is insoluble in water.

CH, Cl
Q30 Statement-1 : O<Cl © 18 less recactive than (:r
towards Syl rcactions.

Statement-2: Tcrtiary alkyl halides rcact predominantly by

Sy 1 mechanisum.

RISOSA SN 28.(0(©O@D 29-0®OW
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DAILY PRACTICE PROBLEM SHEET 46 - CHEMISTRY

Total Questions 30 Total Marks 120
Attempted Correct
Incorrect Net Score
Cut-off Score 36 Qualifying Score 56
Success Gap = Net Score — Qualifying Score
Net Score = (Correct x 4) — (Incorrect x 1)
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DAILY PRACTICE

PROBLEMS

- . 2° .
(@) In isopropyl chloride CH;-CH-CH, |- chlorine
37 :

1.

2.
3. O
4. W
5. ()
6. (3
7.  (a)
8 (o)
9. (a)
10. (c¢)

Cl

atomis attached to 2° carbon atom.

CH,y —=2— CHX3(X = CBr, 1)
eI
CH, [C.H3

lo 2{! IO

CHy —CH —C —~CH, -CH,
* 1

3-Chloro-2,3-dimethylpentane

Br
|
CH; —C =CH, + HBr—>CH;-C —CHj
| |
CH; CH;

2-Bromo--2- methylpropanc

C,H5OH +S0Cl, —m 0 H C14+80, +HCI

+ +
CH,=CH, —2 BrCH, - CH,
Br-l LHOCH;

CHz_ CH2 +Br—CH2—CH2—O—CH3
| |

Br Br
Call+Cl;—120 o 041Gl 1O
Cl
Cl Cl
+3C12 Suniight
Benzene Cl Cl
Cl
BHC
Kl "
C,HsOH “Nayco; > CHI; (Haloform reaction)

CaOCl, + H,0 — IS ) (OH), +Cl,

®xidation

CH3CH,0OH +Cly ————— CH3;CHO + 2HCI

Chlorination

CH;CHO+3Cl, —— 2200 5 001,CHO +3HC

CCLCHO oy

o HCOO
CCCHO ol '

Chloroform > 0
Calcium femate

11.

12.

13.

14,

16.

17,

18.

19.

20.

21.

22,

23,
24,
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CHEMISTRY
SOLUTIONS 46

+ n
NH2 N. NCl Cli
(i) HNO, Cu,Cl,
~ acia ¢ THEL Y +N,
Aniline Benzenc diazenium Chlorobenzenc
chloride

() C,HJI+Mg 285 5 ¢ H, -Mg -1
Ethyliodidc Etbyl magnesium iedide

(a) In this method, all other products are gases and thus
escape, forming alkyl halide in pure state .

R -OH+S0ClL, —~—>R -Cl+HCIT + 50, T

Cl
6> Cl
®) CCl,CHO +2 —>» CCl; —€H

O )«

(d) Direct halogenation of alkanes is leasi preferred for
preparing RX because di-, tri- and tetra- halogenated
products are also fornied.

(¢) HBr
®) R-X + Nal acelon® , R-I+ NaxXd
Soluble in Insoluble n
(CH;®H, Me,CO) (CH3OH, Mc,CO)

(where X=ClorBr)

@)
® CeHe. 30— 2V, cHQf
Benzene BHC
® C,Hs0H. Socl,_ P9 ¢ H.cl. so,. HCl
®) C,HsCOOC,Hs +PCl —

C¢HsCOCI+C,HCl+POCI,

AlC,
n-propyl bromide

Benzene Isopropylbenzenc

()
CH-(CH,),

+
The intermediate CH;CH, CH, rearranges tothe more

+
stable (CHy ), CH.
®)
(@ NBS is asclective brominating rcagent sincce it nonnally
brominates the ethylenic compounds in the allylic
position.
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25,

26.

@

] 87

Neohexyl chloride is a primary halide as in it Cl- atom is
attached to a primary carbon.

CH;4
CH; - ? CH, - CH,Cl

CHj4
Thus (1), (2) and (3) arc corrcct choices.
Only thosc compounds can fonn chloroform which have

H

[ | .
CH,- ?—OH, CH, —(i,‘ type structurc. Of the given

choiccs, propanol - 2 is the only compound having the
required structure.

Thus (1), (2) and (3) arc corrcct choices

27.

28.

29.

30.

(@

O]

(c)

(c)

As a rcsult of resonance, the carbon-chlorine bond in
vinyl chloride acquires some double bond character.
Hence, vinyl chloride does not undergo nucleophilic
substitution reactions.

CHClj5 s stored in dark bottles 1o prevent oxidation of
CHCl, is presence of sunlight.

CCl, is used as a fire extinguisher. The dense, non
combustiblc vapours cover theburning substance and
prcvents the availability of oxygen around burming
material.

CH Cl

3
OACI is more reactive than Cr

becausc the former is a tertiary alky! halide and the
latter is a secondaryalkyl halide. Tertiary alkyl halides
react predominantly by Sy 1 mechanisin.



	DPP - 46..pdf (p.1-4)
	46..pdf (p.5-6)

